Math 9 - Unit 2: Algebra 1

Homework 2.4 - Powers of Monomials
Expand and Simplify

) 2(x*+2x-5)-x(x+1)

x?+3x-10

3) —(x2 -3x - 1) + x(3x + 2)

2x% +5x + 1

5) 5y{(1-y)+3(2)* -4y +3)

y2—7y+9

7) 2x(3x% = 4x +2) = 7x*(8x = 2) + 3(x? + 3x + 1)
—50x> + 9x* + 13x + 3

Name

Date

5T

2) 5(x2 +2x - 7) + 3x(x + 1)
8x? + 13x - 35

4) 4(2x + 3) + 3x(x2 -X+ 3)
3x? = 3x7 + 17x + 12

6) =3x(x +2) + 2x(2x - 1) - 5x(x - 3)

—4x% + Tx

Simplify. Your answer should contain only positive exponents.
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22) (2%)" - 24 23) 2k - (1)’

32x15 Zkl(]
24) xy - (2x) 25) x*y* - (25")"
4x'7y? 1024x5y'%
26) (2)°) - (26%°) - 2xy° 27) (2x* - %)’
8192y*x’ 1
28) 2xoy324 : (22y4)2 29) x3yzz3 : 362)/324 : (2)62y2)4
8yllZ() 16x13y13z7



